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The Torah testified regarding the absorption of earthenware utensils
that it is never expelled from its walls

OVERVIEW

MR (or M) said that one can notice that ZN’.’HP IXD ‘sweat’ when heated,
indicating that they have absorbed some of the food which is cooking in them, so
once we know that they absorb, there is no way to expel the entire absorption
through kashering them (7%937), since the 710 testifies (by writing W& w27 °99
"% 32 Hwan) that it can never expel this absorption. N0 discusses this issue.

moon explains where the 7710 testified that 0957 157 77 KX 11X:

- yaws “m9a *avmae
For it is written regarding these utensils; ‘it shall be broken’

nooIN asks:
- 5‘.15»;‘.1 9N 139979 NPT INY 1IN Y P19°5 9NN ON)

And if you will say; why is it necessary to cite 77°¥77 71707 as a reason why 77937
is ineffective for X°177 *187%, he could derive that 77937 is ineffective for X127 *IRn,
since we see that it ‘sweats’ (meaning it still expels moisture), and presumably

this ‘sweating’ takes place even after 79w -
- $511551513 593 B9 INY 1YY 219 INT

' An alternate translation is that 1917 is from the word *917, meaning a blemish or impurity.
2 X1 "IXM are lead coated earthenware (see X132 11"'7 *"w7). The question was whether they can be considered like
metal 0°95 (since they are coated with lead) and therefore n%v37 is effective, or are they considered 0717 ¥23 and 77y
is ineffective.
? In some texts the words 72w* 71°2 2°n7 are part of Moo heading (indicating that these words are stated in our X23;
however in our N3 these words [12w° 772 2°n57] do not appear in the X713 text). See footnote # 14.
4 X3, (1¥) XIp" reads 12w 12 Swan WX wAn °201. The oo there is discussing the utensils in which the ni1a7p were
cooked (to be eaten by the 0°3713). A 7277 can only be eaten for a limited amount of time (a day and night for nxvn,
etc.) The utensils in which these n1127p are cooked absorb some of the 1277 and if we will use them the next day it
will expel what it absorbed, which at that point is 7011 and is 77°2%2 MR (and needs to be burnt). The 770 writes
that metal utensils can be kashered but not 0711 73, therefore they need to be broken.
> moon presently assumes the following; this sweating (Xn*7) means that it sweats on the inside (after all the food
is removed) [not as "1 states here (*n>7°n7 3"7) that it sweats on the outside]; a ©3r1 "9 is like all other utensils
(they ‘sweat’ before n1%¥a7, but not after 75¥377), and nevertheless there is the 3"7°1x of 12w> that 75va7 is ineffective
by 0711 *93. The reasoning of this assumption is that if 01 °%5 ‘sweat’ even after 77va7, there would be no need for
the >"m°m of 1aw», for we see that 77v7 is ineffective to remove all the absorption, since it is still ‘sweating’.
® Therefore since the X177 *Ikn ‘sweat’ even after 72¥a7 they are ‘worse’ than 0711 %95 (who do not ‘sweat’ 72va1 K>,
see footnote # 5), so obviously 117v37 is ineffective and there is no need to cite the 3"7°1 of Haw.

1

TosfosInEnglish.com



7707 3"7 '0n 2,7 0o .7"02

For if the sweating of X237 *1x» is only before 75w, it should not be a cause for
75van to be ineffective, since all other 2395 also ‘sweat’ before 75va.

N1B0IN answers:
- (41597 AT AP DAVIPN WISDY 19) “ATEN DD 3995 B9IYTT A1) U

And one can say; that really the >n»7n of X139 "1xn is only before 75as, but
nevertheless they are different from 0°%3 2Xkw, as '@ explains in "'y noon -

- 7591 5953 YINN N TNIT 11991 SYIN SN TINT
That the X°1p *18n ‘sweat’ on the outside before 5y like 0717 °%2 (but not like
0°%> IRW that sweat only on the inside before 17%¥X7), so since they are “n»7on

viman this indicates that the X°137 °1X» absorb more than o°%5 7xw and are 710X like *93
oI

nvoIn asks:
= (ow X% 97 HINVN DT P92 DINATAT MIIYA 279 DY 19917 27913 N¥I» NDN) 99NN ON)

And if you will say; how can the X173 state that 0715 19172 R¥1 1R 07171 °7, but it
will be 19217 37°2 KX through placing it into a furnace, for the X773 in 2’73y ndon

in nxwR 27 P -
- %9315 WTDNRa MATD INNDNI MNYWALY 11191199 7599

Asks, ‘but let us return the 071 °%5 to the furnaces, so why do the ny>7p of 9>

0711 in the w7pn need to be broken’
= MNVYALY NN 19YW MMV W XN OIWITA MIIVaS PNV 99 NYNI

And X7 ' answered, ‘because there are no furnaces in 2%w1’; this concludes
the citation from the X7723. We can derive from this answer that if there are nuwas,
the 0711 *%2 would be permitted through returning them to the mawas -

mooin offers an additional proof that a 0911 °22 can be kashered:
= ©%931 POONA MITP 9V 291 IND XN NYY DN RNYT RY N7 (DAR) 9N HIyY 199

And also previously WX 217 said regarding an earthenware 79379 that you cannot
kasher it by heating it from the inside because we are concerned that perhaps he

" However, after 7937 no utensils sweat; whether it is 0°2 IRW or X*23p *8n) 0711 *22.
8 It seems evident that n19o1 did not have our *"wA here (>n™77 1"7) in his text.
? This explanation (of Moo question and answer) is based on the s'70 w1 understanding of the X"wamn. It would
seem that (according to this [owd in NwOIN] that) no 0°%3 are *n>»7n after 77¥a7 (even 01 *73 and *11p °IXn1), which
would indicate that 759377 should be effective by all 2°73 (even 011 °23), nevertheless since the 70 writes (a 2"7°13?)
that 72w> 091 *93 and we notice that 0717 °%3 is 72 n°>7n before 79van, therefore whatever is 75van %109 YIn2 n»n
(like >1p7 *18n) cannot have an effective 77v37.
' Once we reheat them in the furnace they will certainly expel whatever they absorbed.
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will be concerned for this 777>7p (that it should not break) and will not heat it from
the inside, but were it not for this concern, the m=°7p (of 07171 °25) would become

permitted through heating it from within -
- Y513 959 591393 X991 SN NN 19

And similarly the X3 said, if he fills a 071 > %°512 with coals and reheats it, it is

well done and the oven becomes 0. We see from all these places that it is possible to kasher
a 071 °73, so why does the X3 here say that 0719 199171 XY 1K 071 °95?!

Mo0IN answers:
= YN D90 NYYI 1PI0NY 11957 19997 7910 NI 2OWN XY NTT 0N 1929 99IN)

And the n'"9 answered that this (returning it to the jw23 or reheating it from the
inside) is not considered that the ¥192 was 19217 2792 X3, for since it was heated

from the inside it becomes like a new utensil -
- Py550n5 1wa92 1MN 15 9N PYIYYS DN 959 791 1Y

For that is the way of making a o211 %> that they place it in a furnace to heat
it.

mooIn asks:
= M 29090 1991 N1 92w 25097 1IN 211991 2357 IR ON)

And if you will say; how does the X713 bring proof that by a >7°n XX 19X 0717 95

0?w% 1017 since the 717N writes 92w; but perhaps it is a 577912 that a 071 *%2 must be
broken even if 79937 is effective. maoIn offers proof that the rule of 72w° is not necessarily

dependent on the absorption of the 071 *%3 -
- Y IN #1593 K92 DIYIAN NI 197 AN RPN 93 X3 0NN 993 1MNH 99IND NI 199NT

For 8»n 92 829 posed a query there (in 2°1727) in a case where he hung the meat
on a spit in the airspace of the 0717 °52 oven, whether we say that the 790 was
concerned just for cooking something in the 0717 °%> even if it did not absorb

anything (and therefore the oven would need to be broken), or not (that it needs to be
broken only if the oven absorbed the food [meaning that the food touched the oven], but not if it
was merely hanging in the airspace of the oven). In any event it is evident that the X713

" This is according to the X2°X n°v2°X (on this 71Y) that 07 HWwa XY K7
12 This is amended to read 173011 (instead of 11m).
13 1917 97 X¥ means the vessel is as before, we only remove the absorption; however by placing a o971 *93 into a
W 125 we are not merely removing the absorption, but rather we are making a brand new 0717 °93.
' This would seemingly indicate that the words '12w" 712 22n27' are part of the Xn3 text (by maon). See footnote # 3.
' mpoin question is that perhaps this is a 3";°1 by 2°w7p (that even though ;72937 is effective, nevertheless it needs to
be broken and cannot be used again), however by 1211 (where there is no 2":7°13), 77van is effective even by 0717 993,
169 7% oomar. In our text there it is X»0 12 M7 (not XAM 72 X27)
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considered that the rule of 72w may have nothing to do with 7¥°92, so here too perhaps we can
say that even if the 0917 °%5 can expel all that it absorbed, nevertheless there is a 3"°1a that it
needs to be broken.

N1B0IN answers:
- $193) DY 199X NP3 N9YVYW DY NYINI Y9351 A1)y W

And one can say; that since P> npsuw is effective by copper utensils even if

the food was cooked and absorbed by the utensil -
- Pyy5291 HHYra5 INUYY 299 13990 Eba X2 HIwran ©an 993 PopnY A 19 OX

Therefore perforce this which the 710 is particular regarding a ©7n > when
there was cooking without absorption; it is only because the 770 considers
Y192 K92 21 as if it was like 21292 and pi»a.

mooIn presents a difficulty:
- AYHYY PEYIN INNN NIV MmN Mupnd v Foan 19539

There is a difficulty according to the n''= regarding a 011 °52 9910 which became

N»v; why is it necessary to divide it into three parts (for it to become 170) -
- N9 1M PON 1Y 1wy Panxa 29WnT 119

Since (according to the n"1 if it is heated in a furnace) it is considered as a new

(different) utensil, let us heat it up, and nothing more should be required to make it
.

MooIN answers:
= PY0NY NO9T PRY NITPA 99917 DNYAN 12 PWNRY 13939 NI

And the R'"2w= explained that this which the n"9 stated, that if it is returned to

" The 7790 writes (in 83,1 (%) X7p") that 012 quwY PAm 72w2 NwIm *232 oy, which means RN 79V,
'8 This means according to the one side of the query that 3172 X2 912 needs 772w,
" 1t is not logical that by a nwIn1 *95 where it was certainly ¥23, nevertheless 72va7 is effective, but by a 0711 22
which was not ¥22 the rule is 72w>. Therefore we must conclude that ¥19321 9125 WY as NN continues. See
footnote # 20.
0 The answer is we cannot say that it is a 2";7°1 that even without 3192 a 0711 *93 requires 77°aw, for why distinguish
between a 0717 *93 and N1 *73 (see footnote # 19), but rather since we see that by nwini *25 there is 79V therefore
we must conclude that the Mo°X by 0717 *23 is because of ¥173; however the >"7°1x may be that by 0717 *93 even if it
was M92 X732 71w it is considered as ¥1921 w03, but without 7v°92 at all, the 770 would not rule 7aw». Therefore we
must conclude that there is always a 73°72 by 071 *73 (when it is in contact with the food) and it is 1217 *71 XY R,
so there can be no difference between 2>w7p and 1"211.
! The n" stated previously that kashering a 0711 *23 by placing it in a furnace is not considered 1917 71 X¥1 since
after placing it in a furnace it is considered as a new *73 (see footnote # 13).
2 The mawn in ™"n 7"D @¥93 states; 121 AWHOWL W9 ,INIK PIALA T2 ,RALIW MIN; it is necessary to break up the oven
into three parts (so no part contains a majority of the original oven), and then it becomes T170.
2 Some amend the text to read Inx2 while others read it wn> (instead of TIxD).
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the furnace it is considered like a new vessel, that is regarding a pot (the °Xn

X°11?) which is not customarily heated from within (only from the outside), therefore -
= INOY INA NIVIN 029 TN MIIYAIY NN P9HNIYS

When we return this pot to the furnace we can then say, ‘a new face (pot) came

here’ (and [perhaps (see X"w7n)] it can become 7L by heating it in the Mwa2) -
N9V PNy %3191 MYTN 0395 INYY 023930 IPIUN NYWI NYY U3 9990 HaN

However an oven is heated from within every single hour and it is not
comparable to a MwTn 2%1p so therefore 792w is required to make it 170,

SUMMARY

0917 °20 and X°11p °I1X7 (as opposed to other 0°72) ‘sweat’ on the outside before T7va.
Even 0711 °95 can be kashered by reheating them in the furnace. 07 *%5 cannot be
kashered (not because of a >"7°13, but rather) since they retain some 1¥°92.
Returning an oven to the furnace will not be 777 it from its IXMY (as opposed to a

pot).

THINKING IT OVER

mooIn stated that regarding an oven since it is always heated 0°192n, therefore even
if it is returned MM22Y it is not considered nwn 0°19.% Is this rule regarding both
(7)) axmw and Wwon, or is it a rule regarding X™W only, however regarding
79793, returning it MwadY is effective to make it w>.*

* See ‘Thinking it over’.
3 See footnote # 24.
% See X"
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